CHM 151 Quiz2a 25Pts Spring 2009 Name: R e
SHOW ALL WORK TO RECEIVE CREDIT
G=10%,M =105,k =103,c =102, m=10-3, p =106, 1 = 10° , 2.54 cm = 1 in,
12 in = 1 ft, 5280 ft = 1 mile, 3 feet = 1 yd, 60 sec = 1 min, 1 hr = 60 min, 4 quarts = 1 gal, 2 pints = 1 quart, 454 g =1 Ib.

oar
1. (5Pts) A caris traveling at a speed of 35 km/hr. Determine how fast the jws is going in

miles/second.
35 m’o | a ier | pes BT
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2. (5 Pts) Chloroform, CHCls, has a density of 1.48 g/mL.. How many mL of chloroform are needed to

provide 165.0 grams? oy l Tl (/)l/lmg
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3. (8 Pts) Complete the following table:

Element
or ion Number of | Number of | Number of
Element or ion name symbol Protons Electrons | Neutrons
C1-37 - ~
chlorine -~ 27 | 7 |7 L0
carbon-14 C" ”'/ 6 ( 63
ot
A magnesium-25 cation M 9" 25 / N e |3
[
An fluorine-18 anion F — lé) 9 / o q

4. (2 Pts) Give the name and the symbol of an element that would be classified as a non-
chlorine CQ

Give the name and symbol of an element that would be classified as a metal

sodium Me

5. (5 Pts) The recommended adult dose of Elixophyllin®, a drug used to treat asthma, is 6 mg/kg of body
mass. Calculate the dose in milligrams for a 155 1b person.
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CHM 151 Quiz2B 25Pts Spring 2009 Name: KQ;L,
SHOW ALL WORK TO RECEIVE CREDIT
G=10%,M=105k=103,¢=102,m=10"3, 1 =106, n =10°, 2.54 cm = 1 in,
12 in =1 ft, 5280 ft = 1 mile, 3 feet = 1 yd, 60 sec = 1 min, 1 hr = 60 min, 4 quarts = 1 gal, 2 pints = 1 quart, 454 g=11b.

1. (5 Pts) Chloroform, CHCls, has a density of 1.48 g/mL.. How many mL of chloroform are needed to
provide 265.0 grams?
A6 5.0 9

ml
1H4& g
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2. (5 Pts) A car is traveling at a speed of 45 km/hr. Determine how fast the train is going in miles/second.
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3. (8 Pts) Complete the following table:
Element
or ion Number of | Number of | Number of
Element or ion name symbol Protons Electrons | Neutrons
| Cl-35
Chlorgne -3 |7 |7 /&
carbon-13 C~R} ‘bf é /
RS
An fluorine-19 anion F =19 q /0 , 0
2F
A magnesium-25 cation | Mg -2T 1 % I3
v

4. (2 Pts) Give the name and the symbol of an element that would be classified as a non-

metal

Chlerin e

CL

Give the name and symbol of an element that would be classified as a metal

Mo

5. (5 Pts) The recommended adult dose of Elixophyllin®, a drug used to treat asthma, is 6 mg/kg of body
mass. Calculate the dose in milligrams for a 175 1b person.
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CHM151 Quiz 3a 25Pts Spring 2009 Name: /><e¢2_,
SHOW ALL WORK TO RECEIVE CREDIT
Atomic masses: H 1.008; C 12.01; O 16.00; Na 22.99; K 39.10

1. (5 Pts) Calculate the percent carbon in sodium oxalate (Na;C,O4)

lelx [C.00 = G4.00

,OI :J\L’.OL
210% v 0= ]7.927, X izeo = Moo

139,00

I— 139.0%

2. A compound gave the following elemental analysis: 40.0% carbon, 6.71% hydrogen, and 53.3%

oxygen.
a. (6 Pts) Determine the empirical formula of the compound.

AsSums 100 9 S %=;MW\£

. H0.0g) mol _ 332 <+ 322 = |
& : & V-

fha-ety . = 2 @
H: AL ) pwel = 64 +3233 =

[7.01¢
. 53-3£} ol 2277 - ~ |
O ‘ { /6:005 -_— JeJ = 3;33

b. (3 Pts)The compound’s molar mass was determined to be 90.8 g/mol. Determine the molecular
formula.

%rmpimcal‘ e = 30,073
9p.9 = 30.03= 3 P

3. Octane undergoes the following combustion reaction:
2CsHis(1)  + . 250(g) —  16CO(g) + 18H0()

a. (5 Pts) If 14.7 moles of octane are burned, how many moles of carbon dioxide are produced?

1 Cqg Hig + L50, —=2 16CO, + 1§ Hy 0

14,7 o) 7 weles
14.7W'{) [Eme) €O = )17 [ o) CO,
Qs gy -

b. (6 Pts) If 45.0 grams of octane are burned, how many grams of carbon dioxide are produced?
Q\Cgfﬁg -PQJOl = J6Co0y + |§ H, O
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L/S'.Og c(; 2
‘ Cottie
yso g behy| bl | 1EafT] 9906 = 139 94 o
D926y [amel [ metcen =
%/“c/ﬁ/ €4




CHM151 Quiz3b 25Pts Spring 2009 Name: M"-;’?»
SHOW ALL WORK TO RECEIVE CREDIT
Atomic masses: H 1.008; C 12.01; O 16.00; Na 22.99; K 39.01

. Potustium
1. (5 Pts) Calculate the percent carbon in sediwum oxalate (K,C,04)

24,04 LL_&L/XMJ“} 2 S

. X oo = J4 Y IO = 24,0

m /7 L/S— O/?,C 9\,)<3?‘“) -
""“'"w-q_._-______—-r

79.2°

/66.22
2. A compound gave the following elemental analysis: 40.0% carbon, 6.71% hydrogen, and 53.3%
oxygen.

a. (6 Pts) Determine the empirical formula of the compound. @; Q wil =z ?D

CH, 0

b. (3 Pts)The compound’s molar mass was determined to be 90.8 g/mol. Determine the molecular
formula.

G H503

3. Octane undergoes the following combustion reaction:

2CsH;g(1)  +  2504(g)

—

16CO ) + 18H0()

a. (5 Pts) If 14.7 moles of octane are burned, how many moles of water are produced?

QCg H}g -+ él,-gO&_ —= |6 Coy + ) e HLO
| 4,7 pe |

,7 mﬂe,
7‘/.7npe11~~Q8‘ng ) |§ ol Mo

Pt 3227 i
L Co by -

b. (6 Pts) If 75.0 grams of octane are burned, how many grams of carbon dioxide are produced?

20 Hyy + 280y, —> JECO, + )J§HO

75.09 . » 79
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